










41Unit 1 Competitive markets — how they work and why they fail
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Figure 4.1 Indirect tax when demand is inelastic

P
1
 is the initial equilibrium price and Q

1 
is the initial equilibrium output. An 

indirect tax will cause the supply curve to shift to the left, from S
1
 to S

2
. In 

turn, this causes the price to increase to P
2
 and the quantity to fall to Q

2
. 

It can be seen that when demand is inelastic the consumer bears a much 
larger proportion of the tax burden (P1

P
2
AB) whereas the producer bears 

a much smaller part of the tax burden (EP
1
BC). This distribution of the tax 

burden is called the incidence of tax.

In contrast, Figure 4.2 illustrates the impact of a specific tax when demand 
is elastic.
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Figure 4.2 Indirect tax when demand is elastic

Incidence of tax relates to how 
the burden of tax is distributed 
between different groups, e.g. 
consumers and producers.

179798_01_Econ_1-112.indd   41 08/01/13   5:17 PM











46 Exam practice answers and quick quizzes at www.therevisionbutton.co.uk/myrevisionnotes

4 
 A

pp
lic

at
io

ns
 o

f s
up

pl
y 

an
d 

de
m

an
d 

an
al

ys
is Exam practice

1	 A decrease in the National Minimum Wage for agricultural workers is likely to:

A	 Increase the shortage of agricultural workers.

B	 Increase unemployment amongst agricultural workers.

C	 Cause a contraction in the supply of agricultural workers.

D	 Cause an extension of demand for agricultural workers. � [1+3]
2	 Producers of green energy receive a subsidy from the government. This will cause:

A	 A leftward shift in the supply curve for green energy.

B	 A decrease in consumers’ surplus.

C	 A fall in the price of green energy.

D	 A decrease in the number of firms providing green energy.� [1+3]
3	 In 2011, the rate of VAT was increased from 17.5% to 20% on most goods and services. The effect on prices and 

output has varied depending on the price elasticity of demand for different goods and services.

(a)	 Assuming demand is price elastic, explain and illustrate the effect of an increase in VAT on laptops.� [6]
(b)	 In the above example, will producers or consumers bear most of the tax burden?� [4]
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Examiner’s summary
You should have an understanding of:

4	 The effect of indirect taxes and subsidies using supply 
and demand analysis.

4	 Factors influencing the demand for labour and the 
supply of labour.

4	 Wage determination using supply and demand 
analysis.

4	 The impact of changes in the labour market on the 
equilibrium wage.

4	 The effects of a National Minimum Wage.
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